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Tick the correct answer:
Q1.40+40+40+40+40= X =

a) 40,10,400 D) 40, 5, 200 c) 40,4,160  d) 40, 2, 80

Q2. 2341- 1231 =
a) 1110 b) 1111 c) 2111 d) 0111

DIRECTION : In the question number 3, a statement of Assertion (A) is followed by a

statement of Reason(R). Choose the correct option.

a) Both Assertion and Reason are true and Reason is a correct explanation of
Assertion.

b) Both Assertion and Reason are true and Reason is not a correct explanation of
Assertion.

c) Assertion is true but Reason is false.

d) Assertion is false but Reason.

Q3.Assertion (A): 1 * = 5 flowers then, * * * * *: 25

Reason (R) : In pictograph we use pictures to represent data and we identify a key to
represent data.

Q4. Multiply:
H T 0
2 5 6




Q5. Solve :
231+ 114 -106 - 149

Q6. The following data shows the favourite colour of students of class 3. Represent the data
using tally marks.

Colours Red Green Yellow Blue Black

Number of 10 12 5 23 18
students




Q7 Shruti helps his father to pack mangoes in cartons to send from Maharashtra to Delhi.
a) If she can place 7 mangoes vertically and 5 mangoes horizontally in each layer, how
many mangoes can she pack in each layer?
b) How many mangoes can she pack in a carton if she can fit in 4 layers?
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Q1. Subtract using splitting:
256 7 - 1645

Q2. A fruit seller sold bananas for 40 per dozen. If Aarushi bought 5 dozen, how much money
did she pay to the fruit seller? (1 dozen=12)




Tick the correct answer:

Q3. Is a graph that uses pictures to represent data.

a) Tally Marks b) Pictograph c) symbols d) data
Q4.6x7=

a) 24 b) 14 c) 42 d) 49

DIRECTION : In question number 5, a statement of Assertion (A) is followed by a statement
of Reason. Choose the correct option.
a) Both Assertion and Reason are true and Reason is a correct explanation of
Assertion.
b) Both Assertion and Reason are true and Reason is not a correct explanation of
Assertion.
c) Assertion is true but Reason is false.
d) Assertion is false but Reason
Q5 Assertion (A): 56 x 1=56
Reason (R) : According to the multiplicative property of 0, when any number multiplied
by zero the product is always zero.
Q6 Raman went to buy some books from a book store. He purchased some math books,
colouring books and hindi books.

a) What will be the cost of 5 math books, if the cost of 1 math book is % 376?
b) What will be the cost of 7 colouring books, if the cost of 1 colouring book is X 972?




Q7. The pictograph shows the daily routine of a Raghav. Use it to answer the following

guestions.
Activity | Number of hours = 2 hours
Sleeping
Eating | G
Studying
Playing
Watching TV (

Miscellaneous

a) Inwhich act|V|ty does he spend more time?
b) In which activity does he spend the least time?
c) Total time spent by him on eating and playing.

d) The total number of hours spent by him doing all the activities.

Q8 The table below shows the money spent on groceries by the Khanna family in a week.

Name of the item Money Spent
Rice %952

Wheat R 794

Flour %1825

Pulses X562

a) How much more money does the family spend on wheat than pulses?

b) How much total estimated money is spent by the family on rice and wheat? (round off
nearest hundreds)

¢) How much more money does the family spend on rice than wheat?
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Q1 Multiply
345 x 42

Q2 Raghav took 3 drawing lessons at school. Each lesson was 90 minutes long.He also took a
sketching lesson that was 40 minutes long.
a) What was the total length of time in minutes of Raghav’s drawing lessons?
b) He also took a sketching lesson that was 40 minutes long. How much total time did he
take the lessons for?




Q3 Find estimated solution by rounding off to nearest tens.
326 - 157

Q4 Subtract and check your answer.
2345 -1984

Tick the correct answer:
Q5.Raman 1s 13 years old. His grandfather is 7 times Raman’s age. What is grandfather’s age?
a) 91 b) 39 c) 62 d) 21

Q6. If we subtract 4563 from 9675 what will be the difference?
a) 5114 b) 5112 c) 4231 d) 5111

DIRECTION : In question number 7, a statement of Assertion (A) is followed by a statement
of Reason. Choose the correct option.

a) Both Assertion and Reason are true and Reason is a correct explanation of Assertion.
b) Both Assertion and Reason are true and Reason is not a correct explanation of Assertion.
c) Assertion is true but Reason is false.



d) Assertion is false but Reason.
Q7. Assertion (A): Round off of 458 is 500 (nearest hundreds)

Reason (R) : When we round down a number, if the digit at ones or tens place is less than

5, then it just becomes 0.

Q8 Tanya found a basket of fruits at her home. She counted the fruits of each kind. Make a
pictograph to show the information in the given table.

FRUIT NUMBER OF FRUITS
APPLE 10
MANGO 25
PINEAPPLE 30
STRAWBERRY 40
WATERMELON 15




